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Instructions for the candidates:

1. Wl e e o v & g @

Candidates are required to give their answers in their own words as far as praclicable.

2 qifel IR B VR gU @ quifes A aver &)

Figures in the right hand marginindicate full marks.

3 39 FIT UF B LATqdE q37 P ferg-15 [me @ sfAkar v Rar ww &4
15 Minutes of extra lime has been allofted for the candidates to read the questions carefully.

4. ﬂ?.ﬂ?’?—ﬁﬁ@@f‘??&_@?@—ja?}f@qg—g;

This question paper is divided into two sections — Section - A and Section - B.

5. @IS~ # 50 AGT T B Tl §ET sifFard &1 (7w @ Ry 1 o AR &), gTaT Ty
JueEr FW TP OMR - FEY TEE 4 27 79 wd g @ @,/ W dier g7 W AV
Gt off garw & @IseTY,/ ave Uarel/ &g,/ T e @1 9ve gieaar § §grT Har 761
& g gdET g T BT
in Section - A, there are 50 objective type questions which are compulsory, each carrying 1 mark. Darken
the circle with blue/black ball pen against the correct option on OMR Answer Sheet provided to you.

" Do not use Whitener/Liquid/Blade/Nail etc. on OMR Sheet; otherwise the result will be in valid.

6. @i — g H 25 a@'aﬁ'ﬁzf,ﬁwé’fi (Er-?.?ﬁﬁi%\i{’z%ﬁﬁf#?ﬁ?), forqd & fefi 15 ot &7
GEv 297 ST &1 5 SR 59 @vS A 8 9 gy 7ed R 4§ (7@ & [y 5 3
FriRe &) o v favell 4 gl &7 9% &7 B/

In Section - B, there are 25 short answer type questions (each carrying 2 marks), out of which any 15
questions are to be answered. Apart from this. there are 8 Long Answer Type questions (Each Carrying 5
marks).Out of which any 4 questions 1o be answered.

7 Breft gY@ ST GuEY &7 W qUadl arid &

Use of any electrenic appliances is strictly prohibited.
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Question No, ] to 50 kavefom* optior

H'S —31/ SECTION — A

TS 97/ Obiective Type questions

(5qxr:-.50 ).

mark, your se
15, out of which only one is correct. You imve" to » ¥ !cht"d

epfion, o
i " the OMR - 00, (50xis3y,

1.

Hﬁqﬁ"’ﬁmaﬁmﬁwﬁawy

Which of th : :
¢ following cannot be the probability at an event?

(A) 35 -
®) 02
C
© 03 WNE o
2. i — 2
R P00 = =X -4 Tl p(x) BT T w2
1Pp(x) =x* - 3x <4, then one of the zeros of -p(x).is -
@a 2 - | ®) |4
© o | U &
3. feur ggug x*-2 & =& £ -
Zeros of the quadratic polynomial x*- 2 are -
(A) - 2,2 (B)  —2V2
©  —V2-V2 | ® =2
4 g A B,C P Bt @ B e A sin(57) TR &
. {B+CY . '
If A, B, C are angles of a triangle, then sin (—2-) is equal to -
. A
(A) tan -g (B) sin 2
A
€) - cosg D) seeg
[110] B Page 2 of 16
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(A) 350 3y " |
(©) 2874 3 w
From ) |

a solid cyba of edge
18 -

143?%3
T | BIS A

14 cm : i '
. a Sphf:fe of largest volume is cut. Approximate volume of sphere

(A) 359 ¢m? :
B 3
(C) 2874 ¢m3 W e
. (D) None of these
B O
fg 6. 8) B 8w g 4 2
A) g o '
| B 27 e
(C) 6 SHTY ) Dy 1 3
| 0 P13
Plstance of the point P(-6, 8) from the origin is -
(A) 8 units B) - 247 units
(C) 6 units (D) 10 units
12,
afe =y W%ﬂﬁ#%ﬂﬁﬁaﬁweﬁmmm%ﬁwmﬂﬂmﬁmﬂmw“
If the ratio of areas of two similar triangles is 64 - 121, then the ratio of their concspondmn sides
. .
(A)  8:11 B +8:12
©  12:14 D) 11:8
13. > 81 v sind - ‘
afe tan9=—E€T,ﬂTs1n*3 HTAF & —
If tan® =~ , then the value of sing is -
2
: 4 3
© ®3
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14, o Yar o ga @1 3 A el ® afiee ol 8 e 8-
(A)  Sffa | B) ¥
(C)  (A)3R (B) A @ g q B T

A line which intersects a circle at two distinct points is known as -

(B) Tangent

. (A) Chord
(C)  Both(A) and (B) | (D) None of these
15. sin18° _ ,
cos72°
(A) 0 (B) 1
(C) -1 (D) 60

16. 1% wHaTg e ABC #1 U@ 4o 2a 8, T §WI Sarg &l —

One of the side of an equilateral triangle is 2a, then its height is -

(A) 3a (B) V3a
© V3 o
. ;| 2

17. < Gemaiia ok 18 F1 @ G, 36T H G 2.8 W 2 B HAR ~
LCM of two numbers a and 18 is 36 and HCF is 2, then the value if ‘a’ is -
@ 2 U
© 4 ® |
18. P(-4,2) 3R Q(8, 6) B e arel Y@@ve & 7y fdg @ fams € -
The coordinates of the midpoint of the line segment joining the points P(-4, 2) and Q(8, 6) are -
A G | B (1,3
< @49 M &2
19. af% 6, 8 9, x T 13 FT ARG 10 B, T x B HH 8-

If the mean of 6, 8, 9, x and 13 is 10, then the value of x is -

@ 1z B 13

[1 10] B o PreV2868 ¥déhshala







25. wHwR A0 54, 51,48, 45, ... FT 1038 72 -

A 5 o B) - 39 |
© -, _ D 99 B el
The 10" term of A.P ; 54, 51, 48, 45, e, 18 - |

A 5 B) 30

(C) 27 ;2. (D) Noneof these

26. H‘ﬂﬂﬂwﬁ‘ﬂx&-qu—S:Dmﬂ-3x-6y+‘1=0$3‘ﬂ§' :
A)  dgfaea (B) 3G B

© ®E gw =& S (D) TR eR
Pair of equations x + 2y + 5 =0 and -3x - 6y + 1 = 0 have-

(A) | Unique solution : (B) Inﬁnit; solution
(& No solution (DY None of these

27. af <) el ABC @ PQR # ZA = 2P, /B = £Q, 2€ =R, @ —

If in two triangles ABC and PQR, ZA = £P, ZB = £Q, ZC = £R, then -

(A)  APQR ~ACAB (B) APQR~ABCA

(C)  ACBA ~APQR (D)  AABC -~ APQR
28. THRR A : 2, 6, 10, 14.......... BT P W UT 82 F?

(A)  1sdf - (B)  o0d

© 214 | (D) 229

Which term ofﬁthe AP:2,6,10, 14, .......... is 827

@A 15" " ® 20t

© 2t ®
29.  cos(90°-A) =- .

(A) cot A _ _ (B) sin A

(C) tanA | . | (D) sec A
[110] B Previot e FathbiSIa




3. 38590 daney oy T o By §

a7

@ 7w Co®) 35

C ,
@ 05w W) TR A
The radius of

deirele with-aren 38.5 em® i -
(A) Tcm

(C) 10.5 em

@) 35cm
| (D)  Noncol these
3. cosl® coge cos3°._
(A) 0
(0 T

re COSY0° =

(B) I
- vz
32. W‘\’fﬁﬁﬁmﬁm‘m‘mt r R h & A e w8

The radius i '
and height of a cone are r andHh respectively, then its volume is -

A 1.2 X ‘
(A)  Zmr?h (B) g‘l'[i"”'h
© S O

B 15 (2v3,~v2) v wre 3§ R 27 .
(A) ¥ U ' i B) i cng
€ TR | D el o

In which quadrant does the pain; (2V3,~V2) lie?
CA) | 1™ quadrant (B) 2" quadrant
(€) 3" quadrant | (D) 4" quadrant
3. R veT ES R B ¥ o a8 7

For an event E, which of the following is correct?

@)  PE)>] B PE)<0
© PE)= ®  PE)=-]
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41,

42.

43.

gﬁgz?qﬁ“m% E‘lﬂ”wrﬂmwm 2 o 9% M ARAWR frg 9
:;;;T 80¢s 24 1y West, again he g:m:s 10 m North, Now at what distance is the man [rom his initial
» S Hm | (B) f7m
N '26 " {I;] 28m
ﬁm{ﬁ-‘qﬁ"ﬂcme%wﬁ? |
Which of the [-ﬁllowing is equal 1o cotd?
si
@ o b o
9 S y —
sin0

W?fwu Sy=2 T 6x +2y = 7% W g A -

I the
Cquations kx - Sy =2 and 6x +2y=7 have nosolutions, then-

(A) k?-lﬂ (B) k=-5
€)  k=-6 ! (D) k;-ls
R 5 @ frar w81 2

Which of the following is nol a quadratic equation?

(A)  (x42P=xx%1) B)  (x+1)P=2(x- 3)

{C) (x—Z) (X-I'Z) =5 (D) %2 +___2
x2

4s. ﬁmﬁﬁmﬁuaﬁmﬁ%muﬁuﬁﬁﬂmﬁﬁwﬁﬁmaﬁ
A) R | @) R EFA A
(C) 3 & (D) ERCI ﬂv*l‘s‘ﬁ‘?r
If the graph of two linear equations in two variables is intersecting lines, thc-;n the number of solutions ~
is - |
(A)  Onlyone (B)  No solution
()] Infinite solutions (D) None of these
[110] B I Page 10 of 16
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46. Afxp TN q N ST T €, W ST W, W, B

A) 2

B) 0
(©) 1912 (D) 1
If p and q are two prime numbers, then théill"HCF 1S )
A 2 B)- 0 .
(C)  Either 1 or2 ® 1
47, 24,15,22,13,9, 10 %1 30 @1 URER ST
Range of 24, 15, 22, 13,9, 10 and 30 will be-
(A) 22 _ (B) 24
(©) 9 . D) . 21
48. 7= ¥ 3 Lfg T8 27
Which of the following is not irrational?
) - Vo ®) (24
©) V3 | | (D) 121
49, tan?60° BT AF & —
Value of tan®60° is-
@ 1 ‘ ®) 3
1 ‘ !
© 3 _ ® 3
50. W IS P AR T B Ao WA P P -
The product of lhe‘s;n_]z_dlest prime number and the smallest composite number is -
@A) 10 B 6
© 8 _ | D 4
[1 1 0] B Previo;Fsap%\H!-gLLEla






10.

12,

13.

14,

1.

(2)
o T p]{"-‘ﬂ
TP SR v o e 28 . Al anuaw o) Rrear 21 ). 2, o wwb anget @
BN |
. JRNT T
Calculate the volume of a tight circular cone whose height is 28cm and radius of the pase
21cm. _ _
Establish a relation between x and y if the points (x,¥), (1,2) and (7, 0) are collinear.
2)
<1 RIS T H, Y, 145 T IS A, @ 2175%‘|trﬁ'fqasﬂmwzs i qud) e 1 (

&N |

The HCF of two numbers is 145 and their LCM is 2175. If one number is 723, then find the

(2)

other number.

2)
aiaﬁi,ﬁiiﬁ\q%mﬂa@ﬁ4xz—4x+l$ﬁ§rﬁ,a’r%+ﬁaﬂmsﬂﬁﬁﬁl (
[ 4

o
¥ . B
If o, B are th_(? Zeros of the quadratic polynomial 4er <4x + 1, then find the value of % + o

Br{sT ABC # yomsil AB @om AC X 1 fi=g D v E wwer-gw yaR § 5 DEIBC. I (2)
AD =x, DB = x -2, AE = + 2@ EC = x- 17 8 X &1 e |

In AABC, D and E are points on the sides AB and AC respectively such that DEIIBC. If
AD=x,DB=x-2, AE=x+ 2 and EC = x - 1, then find the value of x.

Rrg ¥ f5 — | @)

Prove that —

secB +tan _ (1+sinﬂ)2
secf —tan 6 cos®

fosdl Brget @ <1 ¥ (3, -5) IR (-7, 4) §1 TR 0 B BT FAWS (2,-1) 7, W TR (2)

- o] o1 e S BN |

Two vertices of a triangle are (3, -5) and (-7, 4). I its centroid is (2,-1), lhen find its third vertex.

@qﬁmﬁnﬂmwﬁﬁmﬁmmmammsmnﬂ%ﬁl (2)
Using Euclid’s division algorithm, [ind the HCF of 570 and 1425.
17. 9 @1 9% g9 e frae am 14 9l 2 (2
Find the surface area of a sphere whose diameter is 14 cm.
[110]B Page 13 of 16
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18.

19,
/ %%WABaﬂEW,BCaﬁDWamACﬁFwwﬁm’g'wﬁﬁDwm

20.

ﬁqﬁ%ﬁmﬁ: @

Evaluate the followin g—

Ssin2 o
n ?0°+ c05%45° + 4tan260°
2sin3g® Cos60° + tan4s®

AAB | | | — R
CWW@E@%@G?WAB:ECJ%&G%WWWWWW
AABC is an isosceles triangle in which AB=AC. A circle is drawn inside

it touches AB at E,BCat D and AC at F. Show that D is the mid-point of BC.
% I & agler 31 et T N AR 3wt aRE 44 . B

the triangle such that

@)

* - Find the areg of ‘a-quadrant of a circle if its circumference is 44 cm.

21.

22

23.

24,

25,

<1 ORI BT SR ST W &, A DN W i o @ el S | )
Two dice are thrown together, then find the probability of getting same digit on both dice.
Frfafag deg @ qZoAF T BV — 2)
(@ RIS | 0-10.] 10-20-| 20-30 | 30-40 | 40-50
R | 8 .12 | 6 | 15 7

Find the mode of the following distribufibri »

Class interval | 0-10 | 10-20 | 20-30 [ 30-40 | 40-50
Frequency | 8 12 6 | 15 7 _

PrferRad g @1 A1 S Y — 2)

T @<t | 0-8 | 8-16 | 1624 | 24-32 | 3240 | 40-48
gRgmar | 10 20 | 14 16 | 18 22-

Find the mean of the following distribution - o

Class interval | 0-8 | 816 | 1624 | 24-32 | 3240 | 4048 |
Frequency 10 20 14 16 | 18 22

ﬁﬂmeﬁwwzu%mwweﬁﬁ“ﬁl - (2)_

If the product of two consecutive natural numbers is 20, then find the nun'ibérs;

2 Rigpi @1 U@ TR SO Sl § | FF-9-F U5 U A B yildadr s o | @)

Two coins are tossed together. Find the probability of getting at least one head,

_ [110] B _ Page 14 of 16
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